MAX 8'6" Item #13374

Item # Description Qty
10511 8'6" Vinyl Strip 1 1
14950 Power Link Assembly 7
10503 Y4 -20 Sock Cap Screw 7
10520 Y4 -20 Nylock Hex Nut 7
10508 Locking Pin Handle 14
10530 Rubber Pivot Pin Keeper 28
10542 Hinge Clip 1
10515 10-24 > " Pan HD Screw 1
10539 Ya X 1 Y4 Faspins 8
10887 T Handle Wrench 1
MAX 12'6'"" Item #13375

Item # Description Qty
10513 12'6" Vinyl Strip 1
14950 Power Link Assembly 10
10503 Ya -20 Sock Cap Screw 10
10520 Y4 -20 Nylock Hex Nut 10
10508 Locking Pin Handle 20
10530 Rubber Pivot Pin Keeper 40
10542 Hinge Clip 1
10515 10-24 > " Pan HD Screw 1
10539 Ya X 1 Y4 Faspins 8
10887 T Handle Wrench 1

MAX 10'6'', PRO 10'6' HD, PRO 12'6"" Item

#10818
Item # Description Qty
10513 12'6" Vinyl Strip1l 1
14950 Power Link Assembly 8
10503 Y4 -20 Sock Cap Screw 8
10520 Y4 -20 Nylock Hex Nut 8
10508 Locking Pin Handle 16
10530 Rubber Pivot Pin Keeper 32
10542 Hinge Clip 1
10515 10-24 > " Pan HD Screw 1
10539 Ya x 1 Ya Faspins 8
10887 T Handle Wrench 1
MAX 14'6" Item #11115

Item # Description Qty
10514 14'6" vinyl strip 1 1
14950 Power Link Assembly 11
10503 Y4 -20 Sock Cap Screw 11
10520 Y4 -20 Nylock Hex Nut 11
10508 Locking Pin Handle 22
10530 Rubber Pivot Pin Keeper 44
10542 Hinge Clip 1




10515 10-24 > " Pan HD Screw 1
10539 Ya x 1 Y4 Faspins 8
T Handle Wrench 1
Pro Series 10'6"/8'6" Item #10819
Item # Description Qty
10513 12'6" Vinyl Strip1 1
14950 Power Link Assembly 5
10503 Y4 -20 Sock Cap Screw 5
10520 Ya -20 Nylock Hex Nut 5
10508 Locking Pin Handle 10
10530 Rubber Pivot Pin Keeper 20
10542 Hinge Clip 1
10515 10-24 > " Pan HD Screw 3
10539 Ya x 1 Y4 Faspins 4
10887 T Handle Wrench 1
10764 Roller Pivot Spring 2
Item # Description Qty
14950 Powerlink Assembly 5
10508 Pin Locking Bar 10
10520 Ya -20 Nylock Hex Nut 5
10521 Upper Link 5
10530 Rubber Pivot Pin Keeper 20
10539 Ya x 1 Y4 Faspins 4
10887 3/16 x 6 T Handle Hex Key 1
11544 | Wrench 3/8 Combo Box/open end | 1
11545 | Wrench 7/16 Combo Box/open end| 1
11546 | Wrench 9/16 Combo Box/open end| 1
12349 Tube 1 2" x 132 x.150 1
14255 | Screw 4 -20 x 4 > Socket HD Cap| 5
14263 Rubber Strip 101.695" 1
14266 Wear Strip 99" 1
14447 MX Operations Manual 1
14673 Tapco All Products Catalog 1
Item # Description Qty
14950 Powerlink Assembly 7
10508 Pin Locking Bar 14
10520 Ya -20 Nylock Hex Nut 7
10521 Upper Link 7
10530 Rubber Pivot Pin Keeper 28
10539 Ya X 1 Y4 Faspins 4
10887 3/16 x 6 T Handle Hex Key 1
10986 Mid-Am All Products Catalog 1
11544 | Wrench 3/8 Combo Box/open end | 1
11545 | Wrench 7/16 Combo Box/open end| 1
11546 | Wrench 9/16 Combo Box/open end| 1




14673 Tapco All Products Catalog
Windy 13, 14 S-II Item #10821

12349 Tube 1 2" x 132 x .150 1
14255 | Screw Y4 -20 x 4 > Socket HD Cap | 7
14263 Rubber Strip 101.695" 1
14447 MX Operations Manual 1
14673 Tapco All Products Catalog 1
Item # Description Qty
14950 Powerlink Assembly 6
10508 Pin Locking Bar 12
10520 V4 -20 Nylock Hex Nut 6
10521 Upper Link 6
10530 Rubber Pivot Pin Keeper 24
10539 Ya x 1 Y4 Faspins 4
10887 3/16 x 6 T Handle Hex Key 1
10986 Mid-Am All Products Catalog 1
11544 | Wrench 3/8 Combo Box/open end | 1
11545 | Wrench 7/16 Combo Box/open end| 1
11546 | Wrench 9/16 Combo Box/open end| 1
12349 Tube 1 2" x 132 x.150 1
14255 | Screw V4 -20 x 4 > Socket HD Cap| 6
14264 Rubber Strip 125.695" 1
14447 MX Operations Manual 1
1

Item # Description Qty
10094 Ya -20 Hex Lock Nut 2
10357 W-14/S II Wedge 6
10359 Ya -20 x 1 34 Phil HD Screw 2
10361 “L" Bracket 8
10362 Flat Spring 4
10364 Nylon Aduster Screw 1
10365 Wedge Block 1
10366 8-32 x 3/8 Phil HD Screw 16
10515 10-24 x Y2 Phil Pan Screw 4
10737 Pivot Yoke 1
10743 Locking Handle 1
10751 12'6" Vinyl Strip 1
10754 Ya -20 x 1 34 Phil Flat Screw 2
10760 Yoke Pin 3
10761 Cotter Pin 3
10762 10-24 x 5/8 Phil Flat Screw 16
10763 Y4 -20 X 34 Phil Flat Screw 2
10764 Ya -20 Hex Nut 4
10770 Y4 Washer 4
10775 Locking Handle Grip 1
10798 10-24 x 5/8 Type F Pan Screw 4
4

10809 Nilon Siacer




Windy SP Item #10820

Item # Description Qty
10505 SP Wedge 1
10733 Fixed Yoke 6
10735 Y4 -20 Nylock Hex Nut 1
10737 Pivot Yoke 1
10742 Rubber Pivot Pin Keeper 2
10743 Locking Handle 1
10751 12'6 Vinyl Strip 1
10752 Locking Block 1
10754 Y4 -20 X 34 Phil Screw 4
10760 Yoke Pin 2
10761 3/32" Cotter Pin 3
10762 10-24 x 5/8" Flat Screw 15
10764 Ya -20" Hex Nut 2
10775 Handle Grip 1
10798 10-24 x 5/8" Pan Screw 2




